BF+EHK

IBfz{ron-K &Pt B 100m(&E) 7 g Bk (JEL) i | E=Bk | 400m |E18B|IEAL 110mH(R) | A% | #58k | PYIR | 1500m | EHEt
Ha =4 |RK  |E2ER [11.00 |+1.5  [6.79 +2.0 |10.90 1.80 47.85 15.85 |+0.3  [36.21 3.60 45.26 4.36.49

1] 992 B5a 861 764 540 627 916/ 3708 1 750 588 509 519 703 6777
®A mig | EERE |k [11.30 |+1.9_|7.00 [+2.4 [10.60 1.80 50.51 15.63 |+0.3  [31.72 4.20 39.03 4.31.54

2| 231 B 795 814 522 627 791] 3549 6 775 498 673 428 735] 6658
O | IEX2 K358k [11.36 |+1.5  [6.90 1+0.7 [11.45 1.80 52.65 15.34 |+0.8  |34.61 3.70 48.30 4.40.78

3] 19 B 782 790 573 627 697] 3469 8 809 556 535 563 675 6607
EH 8| IERE A8k [11.29 |+1.8 [7.06 |+1.8 [11.55 1.80 51.17 15.51 |+0.8  [31.18 3.60 45.44 4.35.89

4] 111 BH 797 828 579 627 761] 3592 3 789 488 509 521 706] 6605
217 #x|REX [EEER [11.27 |+1.9 [6.74 1+0.3 [10.76 1.75 50.86 15.71 |+0.8  [32.23 4.00 50.05 4.50.76

5| 1102 B 801 753 531 585 775] 3445 9 766 508 617 589 614] 6539
mEs | EFSEE |[FoEk [11.19 |+1.2 [7.06 1+2.0 [10.95 1.75 50.25 16.12 |+0.3  [28.44 3.50 51.91 4.36.52

6| 203 B85 819 828 543 585 803] 3578 4 719 434 482 617 702] 6532
e s | EEERE |k [11.12 |+1.5_ [6.79 [+2.3 [10.04 1.85 50.96 15.27 |+0.8  [27.02 3.80 49.22 4.58.80

7] 206 /5 834 764 488 670 771] 3527 7 817 406 562 577 567 6456
R WA |RKRK  |EREk (1112 |+1.2 [7.08 |+1.6 [10.56 1.75 50.70 15.08 [+1.0  [26.17 3.60 44.97 4.51.95

8| 1076 B/a 834 833 519 585 783] 3554 5 840 390 509 515 607] 6415
i BRsE |ELEE |F0ER [11.48 |+1.6  [6.68 1+0.4 [11.07 1.90 54.42 16.31 |+1.0 [28.85 3.60 46.60 5.05.83

9| 2141 BH 757 739 550 714 622] 3382 10 698 442 509 538 527] 6096
ML E— | IEXREAY|EEER [11.47 |+1.6 [6.73 [+1.6 [9.96 1.80 53.75 16.14 [+1.0  [29.05 3.70 41.52 4.47.97

10| 36 Ba 759 750 483 627 650] 3269 15 717 446 535 464 631 6062
OP | #eE|IEXzXs |50k |10.87 |+1.5 [7.36 [+2.0 [6.85 1.95 50.53 16.62 [+1.4  [21.09 3.00 40.56 4.56.26

11| 5136 B/a 890 900 298 758 790] 3636 2 665 293 357 450 581 5982
EE B|FEREA(EEER [11.46 [+1.9 [6.03 [-1.3 [9.77 1.90 56.47 16.48 [+0.3  [27.45 3.70 39.84 4.46.79

12| 1592 BH 761 593 472 714 541] 3081 19 680 415 535 440 638] 5789
mE EA| KR |FR8k [11.42 |+1.6 [6.58 [+1.5 [9.14 1.85 51.06 16.46 [+1.0 [28.50 SR E  [5298 4.45.90

13| 1862 BH 769 716 434 670 766] 3355 11 682 435 0 633 644] 5749
OP |t #8|IER= X508k |11.18 [+1.9 [7.27 [+1.5 [7.90 2.11 53.22 15.99 [+1.0  [22.90 2.60 25.56 5.10.08

14 12 w5 821 878 360 906 672] 3637 1 734 327 264 237 503 5702
R | EEKX |ERER [11.62 |+1.8 [6.93 [+3.2 [9.06 1.70 54.70 16.63 |+0.6  [26.38 3.70 39.49 5.13.76

15| 1995 w5 728 797 429 544 611] 3109 18 663 394 535 435 483 5619
2 x| ELiE (B8 [11.62 |+1.4 [6.42 1+1.9 [10.22 1.70 52.76 17.42 |+1.4  [24.57 2.80 50.85 4.53.11

16| 2186 B/a 728 679 499 544 692] 3142 17 581 359 309 601 600] 5592
Hih #F| KEXIt [F2#% [11.75 |+1.6 [6.43 [+3.1 [10.32 1.80 53.09 15.40 [+1.0 [27.88 SR E  [43.06 4.50.56

17| 1905 B/a 701 682 505 627 678] 3193 16 802 423 0 487 615] 5520
WA e HERAK  [EEEk [11.83 [+1.4 [6.02 [+1.9 [10.08 1.75 53.20 18.55 [+0.6  [29.32 3.40 42.06 4.51.38

18] 585 #5 685 591 490 585 673] 3024 22 473 451 457 472 610 5487
wH e R |ERER (1147 [+1.9 [6.74 1+1.9 [10.95 1.75 52.25 16.11 [+0.8  [32.78 SFE (2916 4.57.79

19| 587 Ba 759 753 543 585 714 3354 12 720 519 0 287 573| 5453
&k 1B BIAK  |ERER [11.50 [+1.4 [6.42 [+2.0 [10.25 1.75 50.86 36.23 [+1.0  [30.31 3.20 44.67 4.27.85

20| 5052 Ba 753 679 501 585 775] 3293 13 0 471 406 510 759] 5439
OP |m% #=#h|EXR=X2|508Hk [11.44 [+1.8  [6.20 [+2.0 [7.85 1.55 49.13 16.52 [+1.4  [20.11 2.60 39.19 4.27.87

21| 24 Ba 765 630 357 426 855 3033 21 675 274 264 430 759] 5435
H &8 REEEA|EEER [11.83 [+1.6 [6.18 [+2.6 [7.64 1.80 53.94 16.52 [+0.6  [23.89 3.60 36.31 4.59.54

22| 5481 B/a 685 626 345 627 642 2925 25 675 346 509 389 562| 5406
BEe RE REKX R [11.35 [+1.2 [6.42 [+1.5 [9.95 1.60 53.66 16.33 [+1.0 [28.26 3.20 46.57 6.02.60

23| 1975 B/a 784 679 483 464 654| 3064 20 696 430 406 538 254 5388
NG Hetn | FRREIRS |BRER [11.47 [+1.2 [5.97 [+0.8 [10.38 1.55 52.09 16.12 [+1.0 [25.51 3.00 32.61 5.07.25

24| 1114 Ba 759 580 508 426 721] 2994 23 719 377 357 336 519] 5302




KE ioth mEBEA|ELEk [11.67 |+1.8 [6.22 1+0.7_[8.28 1.60 53.82 17.69 [+1.4 [16.31 3.40 36.81 4.54.88
25| 1555 Ba 717 635 383 464 647] 2846 26 554 204 457 396 590] 5047
= Hw|ELEE |08k [12.00 |+1.4 [5.86 |+1.4 [9.86 1.65 55.89 17.63 |+1.4  [27.79 2.80 42.87 5.17.65
26| 5246 BH 651 556 477 504 564] 2752 27 560 421 309 484 462] 4988
#  #mm BAKX |8 [1154  [+14 [6.76 1+1.9 [11.26 1.70 52.89 1670  |+1.4 |EE&k%E [3.20 43.53 FLERIR
27| 1364 Ba 744 757 562 544 686] 3293 13 656 0 406 493 0] 4848
OP |l #ith|IEX= X508k [11.10 |+1.5 [6.64 1+1.2 [11.75 ERE (5064 16.39 |+0.3  [36.95 iRE [HE  |ZERE
28| 142 Ba 838 729 591 0 785] 2943 24 689 603 0 0 0] 4235
OP |E# R%|lEXzAz(5E8% [11.29 |+15 [GRfRE | 10.28 1.90 55.19 EHRE | 29.25 FOERE [EERE  |GIERE
29[ 112 Ba 797 0 502 714 591] 2604 28 0 450 0 0 0] 3054
Th =g hEK |ERER [11.41 [+1.9 [6.41 1+0.1 [10.13 1.75 51.93 15.83 |+1.0
588 BH 771 677 493 585 728 752 E4
N B BARK  |EoEx |11.26 |+1.2 [6.70 |+2.2 [8.58 [
1363 B/a 804 743 401 ZHE
L K| EEKXK |EBER |11.36 |+1.8 | [
1993 B2 782 E3id




